14:54:41 1/15/2015	Public Improvement Assessment F	Roll by Address Project: Ratification Date: Resolution	19147C Assmt: 156000 Manager: LM on #:			Page 1
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Pamela J Itzin	EDGERTON MANOR LOT 18 BLK 1	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-21-0054
527 California Ave E		Service Replacement	30.00	26.00	\$780.00	
Saint Paul MN 55130-3011		City Processing Fee	1.00	182.40	\$182.40	
*527 CALIFORNIA AVE E				-	\$2,462.40	
*Ward: 5		*** Owner and Taxpayer ***				
*Pending as of: 1/15/2015						
Donald S Selander	EDGERTON MANOR LOT 14 BLK 1	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-21-0050
Nancy A Selander		Service Replacement	30.00	30.00	\$900.00	20-23-22-21-0030
549 California Ave E		City Processing Fee	1.00	192.00	\$192.00	
St Paul MN 55130-3011		,		=	\$2,592.00	
*549 CALIFORNIA AVE E		*** Owner and Taxpayer ***			\$2,372.00	
*Ward: 5		o wher und ranpayer				
*Pending as of: 1/15/2015						
	EDCEPTON MANOR LOT, A DIV. 2		1.500.00	1.00	#1.500.00	
David L Williams	EDGERTON MANOR LOT 8 BLK 2	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-21-0063
Janet L Cryer		Service Replacement City Processing Fee	30.00	31.00	\$930.00	
560 California Ave E		City Processing Fee	1.00	194.40	\$194.40	
St Paul MN 55130-3011					\$2,624.40	
*560 CALIFORNIA AVE E		*** Owner and Taxpayer ***				
*Ward: 5						
*Pending as of: 1/15/2015						
Julie L Crosby	UFTON GROVE, PLAT 1, RAMSEY, CO.	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-12-0047
611 Idaho Ave E	MINN. E 15 92/100 FT OF LOT 11 AND	Service Replacement	30.00	26.00	\$780.00	
St Paul MN 55130-3022	EX E 9 94/100 FT LOT 10 BLK 2	City Processing Fee	1.00	182.40	\$182.40	
*611 IDAHO AVE E				=	\$2,462.40	
*Ward: 6		*** Owner and Taxpayer ***			¥-,··	
		1 2				

Public Improvement Assessment Roll by Address Project: 19147C Assmt: 156000 Manager: LM Ratification Date: Resolution #:		Manager: LM	Page 2		
Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. EX W 35 FT LOT 9 AND ALL OF LOT 8 BLK 2	Excavate, Replace Connec Service Replacement City Processing Fee	1,500.00 30.00 1.00	1.00 26.00 182.40	\$1,500.00 \$780.00 \$182.40	20-29-22-12-0045
	*** Owner ***			\$2,462.40	
UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. EX W 35 FT LOT 9 AND ALL OF LOT 8 BLK 2	*** Taxpayer ***				20-29-22-12-0045
	Service Replacement City Processing Fee	30.00 1.00	1.00 17.00 160.80	\$1,500.00 \$510.00 \$160.80 \$2,170.80	20-29-22-12-0098
SANTUCCI ADDITION EX W 24 82/100 FT LOT 3 AND EX E 17 FT LOT 2 BLK 1	Service Replacement City Processing Fee	30.00 1.00	1.00 28.80 189.12	\$1,500.00 \$864.00 \$189.12 \$2,553.12	20-29-22-11-0089
HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL W 1/2 OF LOT 11 AND ALL OF LOT 12 BLK 7	Service Replacement City Processing Fee	30.00 1.00	1.00 32.00 196.80	\$1,500.00 \$960.00 \$196.80 \$2,656.80	20-29-22-13-0063
	Property Description UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. EX W 35 FT LOT 9 AND ALL OF LOT 8 BLK 2 UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. EX W 35 FT LOT 9 AND ALL OF LOT 8 BLK 2 UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. E 24 FT OF LOT 24 AND W 28 FT OF LOT 25 BLK 4 SANTUCCI ADDITION EX W 24 82/100 FT LOT 3 AND EX E 17 FT LOT 2 BLK 1 HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL W 1/2 OF	### Description UFTON GROVE, PLAT 1, RAMSEY, CO. MINN. EX W 35 FT LOT 9 AND ALL OF LOT 8 BLK 2 UFTON GROVE, PLAT 1, RAMSEY, CO. MINN. EX W 35 FT LOT 9 AND ALL OF LOT 8 BLK 2 UFTON GROVE, PLAT 1, RAMSEY, CO. MINN. EX W 35 FT LOT 9 AND ALL OF LOT 8 BLK 2 UFTON GROVE, PLAT 1, RAMSEY, CO. MINN. EX W 35 FT LOT 9 AND ALL OF LOT 8 BLK 2 UFTON GROVE, PLAT 1, RAMSEY, CO. MINN. E 24 FT OF LOT 24 AND W 28 FT OF LOT 25 BLK 4 Excavate, Replace Connect Service Replacement City Processing Fee *** Owner and Taxpayer * *** Owner and Taxpayer * *** Owner and Taxpayer * HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL W 1/2 OF LOT 11 AND ALL OF LOT 12 BLK 7 Excavate, Replace Connect Service Replacement City Processing Fee *** Owner and Taxpayer * *** Owner and Taxpayer * Excavate, Replace Connect Service Replacement City Processing Fee	Property Description Item Description Unit Rate Unit Rate Unit Rate Unit Rate Unit Rate Unit Rate Excavate, Replace Connection Service Replacement City Processing Fee 1.00 ***Owner *** Unit Rate Excavate, Replace Connection Service Replacement City Processing Fee 1.00 ***Owner *** Unit Rate Unit Rate Excavate, Replace Connection Service Replacement City Processing Fee 1.00 ***Taxpayer *** Unit Rate ***Taxpayer *** Excavate, Replace Connection 1,500.00 ****Taxpayer *** Santucci Addition Ex W 24 ***Taxpayer *** Santucci Addition Ex W 24 ***Taxpayer *** Excavate, Replace Connection 1,500.00 Service Replacement 30.00 City Processing Fee 1.00 ****Owner and Taxpayer *** HARRISON AND HANDY'S ADDITION To THE CITY OF ST. PAUL W 1/2 OF Service Replace Connection 1,500.00 Service Replace Connection 2,500.00 Service Replace Connection 1,500.00 Service Replac	Ratification Date: Resolution #:	Property Description Item Description Unit Rate Quantity Charge Amts

14:54:41 1/15/2015	Public Improvement Assessment Roll by Address Ratification Date: Project: 19147C Assmt: 156000 Manager: LM Resolution #:				Page 3	
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Lynn L Burris	HARRISON AND HANDY'S ADDITION	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-13-0062
660 Montana Ave E	TO THE CITY OF ST. PAUL E 1/2 OF LOT 11 AND EX E 5 FT LOT 10 BLK 7	Service Replacement	30.00	27.00	\$810.00	
St Paul MN 55106-1022	EGT THE ENERGY TO BEAT,	City Processing Fee	1.00	184.80	\$184.80	
*660 MONTANA AVE E					\$2,494.80	
*Ward: 6 *Pending as of: 1/15/2015		*** Owner and Taxpayer ***				
Carol V Glaser	HARRISON AND HANDY'S ADDITION	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-13-0061
666 Montana Ave E	TO THE CITY OF ST. PAUL E 5 FT OF LOT 10 AND ALL OF LOT 9 BLK 7	Service Replacement	30.00	28.50	\$855.00	
Saint Paul MN 55106-1022	EOT TO THIS THEE OF EOT OF BEIN	City Processing Fee	1.00	188.40	\$188.40	
*666 MONTANA AVE E					\$2,543.40	
*Ward: 6 *Pending as of: 1/15/2015		*** Owner and Taxpayer ***				
James T Frye	HARRISON AND HANDY'S ADDITION	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-13-0056
Bridget A Frye	TO THE CITY OF ST. PAUL LOT 4 BLK	Service Replacement	30.00	27.00	\$810.00	
684 Montana Ave E		City Processing Fee	1.00	184.80	\$184.80	
St Paul MN 55106-1022 *684 MONTANA AVE E *Ward: 6 *Pending as of: 1/15/2015		*** Owner and Taxpayer ***			\$2,494.80	
Eric Amundson Cheryl Johnson 694 Montana Ave E Saint Paul MN 55106-1022 *694 MONTANA AVE E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 2 BLK 7	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 26.00 182.40	\$1,500.00 \$780.00 \$182.40 \$2,462.40	20-29-22-13-0054

14:54:41 1/15/2015	Public Improvement Assessment Roll by Address Ratification Date: Project: 19147C Assmt: 156000 Manager: LM Resolution #:				Page 4	
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Brad W Koons	HARRISON AND HANDY'S ADDITION	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-13-0053
Karla J Anderson	TO THE CITY OF ST. PAUL LOT 1 BLK	Service Replacement	30.00	27.50	\$825.00	
698 Montana Ave E		City Processing Fee	1.00	186.00	\$186.00	
St Paul MN 55106-1022		444.0			\$2,511.00	
*698 MONTANA AVE E *Ward: 6 *Pending as of: 1/15/2015		*** Owner and Taxpayer ***				
Sean M Savage	EKBERG'S SUBDIVISION W 13 FT OF LOT 10 AND ALL OF LOT 9	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-14-0007
Megan L Garrity	LOT TO AND ALL OF LOT 9	Service Replacement	30.00	28.50	\$855.00	
701 Montana Ave E		City Processing Fee	1.00	188.40	\$188.40	
St Paul MN 55106-1023 * 701 MONTANA AVE E *Ward: 6 *Pending as of: 1/15/2015		*** Owner and Taxpayer ***			\$2,543.40	
Bernice M Dumont Brodeur	NETZEL'S SUBDIVISION LOT 1	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-14-0022
736 Montana Ave E		Service Replacement City Processing Fee	30.00 1.00	27.00 184.80	\$810.00 \$184.80	
Saint Paul MN 55106-1024		City Flocessing ree	1.00	104.00		
*736 MONTANA AVE E *Ward: 6 *Pending as of: 1/15/2015		*** Owner and Taxpayer ***			\$2,494.80	
Mary V Costello	SPINNER'S ADDITION LOT 8	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-14-0064
742 Montana Ave E		Service Replacement	30.00	38.50	\$1,155.00	
St Paul MN 55106-1026		City Processing Fee	1.00	212.40	\$212.40	
*742 MONTANA AVE E *Ward: 6		*** Owner and Taxpayer ***			\$2,867.40	

14:54:41 1/15/2015	Public Improvement Assessment F	Roll by Address Project: Ratification Date: Resolution	ect: 19147C Assmt: 156000 Manager: LM olution #:			Page 5	
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Lawrence J Kalina Marilyn E Nelson	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. W 70 FT OF E 132 FT OF S 1/2 OF W 1/2 OF BLK 2	Excavate, Replace Connection Service Replacement City Processing Fee	1,500.00 30.00 1.00	1.00 28.00 187.20	\$1,500.00 \$840.00	20-29-22-14-0055	
749 Montana Ave E St Paul MN 55106-1025 *749 MONTANA AVE E *Ward: 6 *Pending as of: 1/15/2015		*** Owner and Taxpayer ***	1.00	187.20	\$187.20 \$2,527.20		
Steven M Adams Katherine L Goffin 755 Montana Ave St Paul MN 55106-1025 *755 MONTANA AVE E *Ward: 6 *Pending as of: 1/15/2015	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. E 62 FT OF S 1/2 OF W 1/2 OF BLK 2	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 28.50 188.40	\$1,500.00 \$855.00 \$188.40 \$2,543.40	20-29-22-14-0054	
Henry Seka 769 Montana Ave E St Paul MN 55106-1025 *769 MONTANA AVE E *Ward: 6 *Pending as of: 1/15/2015	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. W 75 FT OF E 115 FT OF S 1/2 OF BLK 2 AND S 10 FT W 65 FT OF E 115 FT OF N 1/2 OF BLK 2	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 29.50 190.80	\$1,500.00 \$885.00 \$190.80 \$2,575.80	20-29-22-14-0052	
Brynnetta G Benner Bradford G Benner 770 Montana Ave E St Paul MN 55106-1026 *770 MONTANA AVE E	SPINNER'S ADDITION LOT 2	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 28.00 187.20	\$1,500.00 \$840.00 \$187.20 \$2,527.20	20-29-22-14-0058	

14:54:41 1/15/2015	Public Improvement Assessment Roll by Address Ratification Date: Project: 19147C Assmt: 156000 Manager: LM Resolution #:			Page 6		
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jeffrey C Olsen 776 Montana Ave E Saint Paul MN 55106-1026 *776 MONTANA AVE E *Ward: 6 *Pending as of: 1/15/2015	SPINNER'S ADDITION LOT 1	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 29.00 189.60	\$1,500.00 \$870.00 \$189.60 \$2,559.60	20-29-22-14-0057
Thomas J Curtis Julie D Curtis 781 Montana Ave E St Paul MN 55106-1045 *781 MONTANA AVE E *Ward: 6 *Pending as of: 1/15/2015	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. LOT 2 BLK 1	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 31.00 194.40	\$1,500.00 \$930.00 \$194.40 \$2,624.40	20-29-22-14-0111
Luke Ibis Janna Steidl 669 Nebraska Ave E St Paul MN 55106-1725 *669 NEBRASKA AVE E *Ward: 6 *Pending as of: 1/15/2015	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 23 BLK 7	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 29.30 190.32	\$1,500.00 \$879.00 \$190.32 \$2,569.32	20-29-22-13-0070
Karen A Finnegan 673 Nebraska Ave E Saint Paul MN 55106-1725 *673 NEBRASKA AVE E *Ward: 6	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 24 BLK 7	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 5.00 132.00	\$1,500.00 \$150.00 \$132.00 \$1,782.00	20-29-22-13-0163

-			t: 156000	Manager: LM	Page
Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 26 BLK 7	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 30.80 193.92	\$1,500.00 \$924.00 \$193.92 \$2,617.92	20-29-22-13-0072
HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL W 1/2 OF LOT 29 AND ALL OF LOT 28 BLK 7	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 38.00 211.20	\$1,500.00 \$1,140.00 \$211.20 \$2,851.20	20-29-22-13-0074
INGLESTON'S SUB. LOT 6	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 31.50 195.60	\$1,500.00 \$945.00 \$195.60 \$2,640.60	20-29-22-14-0019
THOLEN SUBDIVISION LOT 6	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 28.00 187.20	\$1,500.00 \$840.00 \$187.20 \$2,527.20	20-29-22-14-0035
	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 26 BLK 7 HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL W 1/2 OF LOT 29 AND ALL OF LOT 28 BLK 7 INGLESTON'S SUB. LOT 6	Property Description HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 26 BLK 7 HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 26 BLK 7 HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL W 1/2 OF LOT 29 AND ALL OF LOT 28 BLK 7 Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer *** INGLESTON'S SUB. LOT 6 Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer *** INGLESTON'S SUB. LOT 6 Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer *** THOLEN SUBDIVISION LOT 6 Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 26 BLK 7 HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 26 BLK 7 HARRISON AND HANDY'S ADDITION City Processing Fee 1.00 **** Owner and Taxpayer *** HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL W 1/2 OF LOT 29 AND ALL OF LOT 28 BLK 7 INGLESTON'S SUB. LOT 6 Excavate, Replace Connection Service Replacement City Processing Fee 1.00 **** Owner and Taxpayer *** INGLESTON'S SUB. LOT 6 Excavate, Replace Connection Service Replacement City Processing Fee 1.00 **** Owner and Taxpayer *** THOLEN SUBDIVISION LOT 6 Excavate, Replace Connection Service Replacement City Processing Fee 1.00 **** Owner and Taxpayer ***	Ratification Date: Resolution #: Property Description	Ratification Date: Resolution #: Property Description

ESCROW

14:54:41 1/15/2015	Public Improvement Assessment	Page 8				
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Peter J Hurley	THOLEN SUBDIVISION LOT 5	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-14-0034
Christina M Hurley		Service Replacement	30.00	20.50	\$615.00	
712 Nebraska Ave E		City Processing Fee	1.00	169.20	\$169.20	
Saint Paul MN 55106-1728				•	\$2,284.20	
*712 NEBRASKA AVE E		*** Owner and Taxpayer ***				
*Ward: 6						
*Pending as of: 1/15/2015						
Ladonna Osborne	B. SCHNITIZIUS ADDITION TO ST.	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-14-0027
725 Nebraska Ave E	PAUL, MINN. EX N 10 FT FOR ALLEY E 41 FT OF W 81 FT OF S 1/2 OF E 1/2	Service Replacement	30.00	26.50	\$795.00	
St Paul MN 55106-1727	OF BLK 4	City Processing Fee	1.00	183.60	\$183.60	
*725 NEBRASKA AVE E					\$2,478.60	
*Ward: 6		*** Owner and Taxpayer ***				
*Pending as of: 1/15/2015						
Jeremy S Sartain	SPINNER'S ADDITION LOT 13	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-14-0069
Jennie Olsen Sartain		Service Replacement	30.00	25.00	\$750.00	
761 Nebraska Ave E		City Processing Fee	1.00	180.00	\$180.00	
St Paul MN 55106-1729				•	\$2,430.00	
*761 NEBRASKA AVE E		*** Owner and Taxpayer ***				
*Ward: 6						
*Pending as of: 1/15/2015						
Krista A Dufresne	EICHENLAUB ADDITION ST. PAUL,	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-14-0074
770 Nebraska Ave E	MINN. LOT 2	Service Replacement	30.00	28.00	\$840.00	_ = 2
Saint Paul MN 55106-1730		City Processing Fee	1.00	187.20	\$187.20	
*770 NEBRASKA AVE E				:	\$2,527.20	
*Ward: 6		*** Owner and Taxpayer ***			•	

14:54:41 1/15/2015	Public Improvement Assessment	Roll by Address Project: Ratification Date: Resolution	19147C Assm n #:	nt: 156000	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Melanie Stephenson Andy Stephenson 775 Nebraska Ave E St Paul MN 55106-1729 *775 NEBRASKA AVE E *Ward: 6 *Pending as of: 1/15/2015	SPINNER'S ADDITION LOT 16	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 23.00 175.20	\$1,500.00 \$690.00 \$175.20 \$2,365.20	20-29-22-14-0072
Marilyn J Rasmussen 13684 Brass Pkwy Rosemount MN 55068-2473 *776 NEBRASKA AVE E *Ward: 6 *Pending as of: 1/15/2015	EICHENLAUB ADDITION ST. PAUL, MINN. LOT 1	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 26.00 182.40	\$1,500.00 \$780.00 \$182.40 \$2,462.40	20-29-22-14-0073
Michael J Hoveland Lynette C Hoveland 782 Nebraska Ave E St Paul MN 55106-1734 *782 NEBRASKA AVE E *Ward: 6 *Pending as of: 1/15/2015	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. LOT 1 BLK 7	Excavate, Replace Connection Service Replacement City Processing Fee *** Taxpayer ***	1,500.00 30.00 1.00	1.00 29.00 189.60	\$1,500.00 \$870.00 \$189.60 \$2,559.60	20-29-22-14-0126
Robert L Evans 782 Nebraska Ave E St Paul MN 55106-1734 *782 NEBRASKA AVE E *Ward: 6 *Pending as of: 1/15/2015	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. LOT 1 BLK 7	*** Owner ***				20-29-22-14-0126
Diane L Schray 811 Nebraska Ave St Paul MN 55106-1735 *811 NEBRASKA AVE E *Ward: 6	LAKE PHALEN ADDITION LOT 11 BLK 2	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 26.00 182.40	\$1,500.00 \$780.00 \$182.40 \$2,462.40	20-29-22-14-0120

14:54:41 1/15/2015	Public Improvement Assessment Roll by Address Ratification Date: Project: 19147C Assmt: 156000 Manager: LM Resolution #:				Page 10	
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kenneth J King	THOLEN SUBDIVISION LOT 10	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-14-0038
Kirsten B King		Service Replacement	30.00	31.00	\$930.00	
715 Nevada Ave E		City Processing Fee	1.00	194.40	\$194.40	
Saint Paul MN 55106-1731					\$2,624.40	
*715 NEVADA AVE E *Ward: 6 *Pending as of: 1/15/2015		*** Owner and Taxpayer ***				
Kevin T Huber	THOLEN SUBDIVISION LOT 11	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-14-0039
719 Nevada Ave E		Service Replacement City Processing Fee	30.00 1.00	29.00 189.60	\$870.00 \$189.60	
Saint Paul MN 55106-1731		City 1 locessing I ce	1.00	187.00		
*719 NEVADA AVE E *Ward: 6		*** Owner and Taxpayer ***			\$2,559.60	
*Pending as of: 1/15/2015		Owner and Tuxpayor				
Thomas Decker	THOLEN SUBDIVISION LOT 13	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-14-0041
729 Nevada Ave E		Service Replacement	30.00	27.50	\$825.00	
St Paul MN 55106-1731		City Processing Fee	1.00	186.00	\$186.00	
*729 NEVADA AVE E					\$2,511.00	
*Ward: 6 *Pending as of: 1/15/2015		*** Owner and Taxpayer ***				
Raebern B Hitchcock	EICHENLAUB ADDITION ST. PAUL,	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-14-0081
741 Nevada Ave E	MINN. LOTS 9 AND LOT 10	Service Replacement	30.00	32.00	\$960.00	
St Paul MN 55106-1732		City Processing Fee	1.00	196.80	\$196.80	
* 741 NEVADA AVE E *Ward: 6		*** Owner and Taxpayer ***			\$2,656.80	

14:54:41 1/15/2015	Public Improvement Assessment F	Roll by Address Project: Ratification Date: Resolution	19147C Assn n #:	nt: 156000	Manager: LM	Page 1
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Teresa A Odwyer	EICHENLAUB ADDITION ST. PAUL,	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-14-0084
Guy Frechette	MINN. LOT 13	Service Replacement	30.00	28.50	\$855.00	
761 Nevada Ave E		City Processing Fee	1.00	188.40	\$188.40	
St Paul MN 55106-1732					\$2,543.40	
*761 NEVADA AVE E		*** Owner and Taxpayer ***				
*Ward: 6						
*Pending as of: 1/15/2015						
Robert J Erickson	LAKE PHALEN ADDITION LOT 10	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-14-0135
Mary J Erickson	BLK 3	Service Replacement	30.00	35.50	\$1,065.00	
803 Nevada Ave E		City Processing Fee	1.00	205.20	\$205.20	
St Paul MN 55106-1737					\$2,770.20	
*803 NEVADA AVE E		*** Owner and Taxpayer ***				
*Ward: 6						
*Pending as of: 1/15/2015						
Raymond Becker	STONE & MORTON'S ADDITION TO	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-43-0120
1300 Payne Ave	THE CITY OF ST. PAUL LOTS 19 THRU LOT 21 BLK 1	Service Replacement	30.00	33.00	\$990.00	
Saint Paul MN 55130-3543	201 21 2211 1	City Processing Fee	1.00	199.20	\$199.20	
*1300 PAYNE AVE					\$2,689.20	
*Ward: 6		*** Owner and Taxpayer ***				
*Pending as of: 1/15/2015						
Patricia L Devallier	STONE & MORTON'S ADDITION TO	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20-29-22-43-0119
Mark R Devallier	THE CITY OF ST. PAUL LOT 18 BLK 1	Service Replacement	30.00	31.00	\$930.00	
1306 Payne Ave		City Processing Fee	1.00	194.40	\$194.40	
St Paul MN 55130-3543				•	\$2,624.40	
*1306 PAYNE AVE		*** Owner and Taxpayer ***				

14:54:41 1/15/2015	Public Improvement Assessment R R	Roll by Address Project: Ratification Date: Resolutio	19147C Assn n#:	nt: 156000	Manager: LM	Page 12
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael J Horrigan 1427 Payne St Paul MN 55130-3435 *1427 PAYNE AVE *Ward: 6 *Pending as of: 1/15/2015	SPEISERS ADDITION LOT 4	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 34.00 201.60	\$1,500.00 \$1,020.00 \$201.60 \$2,721.60	20-29-22-42-0003
Michael P Engstrom 1595 Payne Ave St Paul MN 55130-3059 *1595 PAYNE AVE *Ward: 6 *Pending as of: 1/15/2015	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 6 BLK 3	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 28.00 187.20	\$1,500.00 \$840.00 \$187.20 \$2,527.20	20-29-22-12-0067
Total Excavate, Replace Connection: Total Service Replacement: Total City Processing Fee:	\$69,000.00 \$38,907.00 \$8,632.56					
Project Total:	\$116,539.56		• • • •		***	
Less Total Discounts:	\$0.00	Residential Frontage:	30.00	1,296.90	\$38,907.00	
Project Total:	\$116,539.56					

46 Parcel(s)

0 Exempt Parcel(s)